Sun Tracker
KEGERRE .
Preparation to Install

Quick Start Guide

Y »
IA4YIRI—bAHALR 1 Rrecu . -
RequlrEd TOOIS M\ETEF:EJ 0) Prepare a custom mounting base or purchase EKO full-sized tripod (option). For the fixing holes ®9mm
of the mounting position on the custom mounting base, see the dimensions on the right. #100mm

BB RERARAEAETIN EKOXBEZM (A T3y &) €CEALSEN, CESTRA
EREY BB STR-32GEUIHOEENDMUE S LSUTEIERESEICLTIZEL,

£ - .
@ xﬂM “ ’c;—i@

STR—EIG/EEGBEG Compass Wrench Spanner Allen Key @ When the Shading Ball Assembly is mounted JE#AR—)L &S 2154
Yagivkiia) L7 2\ av= 1% T
(STR-21G/22G: 8mm) (STR-32G: 8mm) STR-21G/22G | STR-32G
(STR-32G: 12mm) No obstruction around Sun Tracker within B 62m Top View
Thank you for purchasing EKO products. 2 ) . A _ Fovn—ERLLUICERBRRICEEY FECs ‘ rER
COEIIBELIE DT RSy — (KB EREB) EB RO EEHIAESTENET, Location & Setup Conditions EE._iﬁpﬁ . %FFU)E% Mumr/;uor)n%gght of mounting base - 100mm ~300mm $2000mm -~ ‘ .
I !
This sheet provides the basic instructions for setup. See the included @ Place Sun Tracker on a stable installation base which can hold a minimum STR-21G/22G _S5TR-32G /
manual fof further detailed information about tF;is product. For a /020 of Sun Tracker and peripherals sensors, shading ball, and so or). f % i‘
’ YU ESYN—HIVENICIIN T 250 (5@ v—rERR—IL) O
long-term and precise measurements, it is highly recommended to - BSICMASBHBAERBHAICLTIESL, . i

Custom Mounting Base ™. i

300
i WA ARA S

install according to the instruction described in the manual.

ABIIWEICRE. CEAEEDOAETT,
AURORME LV, LD ERLRKE AL\ TR EOMREE:
PEECSBESL, BHICHE3BBERAEET SBIZ. )
REBBEIC 5 B FIBC LA >TRELTIESL),

@ Install STR-21G/22G/32G on sunny day. >1 OOm

@ Select a location with free horizon. REBEEIIENI>SVRADBREDRE

—BEBUC KBESAETZBENO RERS
T REEWRENELITRVBAERA TSN,

BICIT o TS,

@ Fixing Holes on Installation Base & & E /T

N(or S)

_STR-216/22G STR-32G

Maintenance iE

Periodic Maintenance EBHRXVFF X

@ Check Directions 75 iz DEERR

Back side of Sun Tracker should face towards the
nearest pole. (Face towards nearest True Noth/True South for
precise setting™)

N(or S)

Product Warranty {RSEICDWT

For warranty terms and conditions, please contact EKO %ég%gggﬁggm ‘Ba%ébde ;
Cetpi ; o f Spirit Level: Check if the bubble is within the — ZK¥E8F: KAEBRZERERL TKENITNT
Instruments or your distributor for further details. The Qﬁf?gfﬁég;ﬁb—c e e B e BBl

warranty is only subjected to the instrument which is installed 21G/22G, it is on the tripod.) STR-21G/22GM7K 4RI =) EICHDET,

RET2HBALANS

and used in correct manner. EKO will not be reliable for any DEILLIERE Sun Sensor Window: Keep the window clean Bty 8—&: ZEAVEEREKER
loss or damage caused from improper installation or use. E<ESIRELT by wiping with soft cloth and demineralized — [E7JILI—)LTENESEEOTIESL),
<fEELF) water or alcohol.
ARBOEMRIPBS FURAREICOTHL T AR * See Manual [5-2. Setup) STR-21G/22G | STR-32G Connectors & Cables: Check and make sure Ax95-5=7)b: -3*’74773V%/U'CL\7§
RICHRASNTNB TR B I ES R, FoLEERLIEEE STR-32G * RURRAEIS 2 HE . i the connectors are in proper condition and LE\TJ\?—7\')L7Jt1ﬂb‘|;g§be‘b;v'CL\EL /AN
BIELA DY D¥MBIESBLTE 4 Back S|de éncjg” ?)Eﬁ%e o) M8x80mm | M12x100mm connected securely and can move freely. BATWRWDERERRLTIESL,
THBENAE = (AN E&E 7R 7 (mm,

First, please check the package contents. If any part is missing or damaged, please contact EKO. 1 Check for Directions™ Mount Body to Mounting Base ( s7r-32G Only) Connect Cables Check Operation
ETIUDIC IMBREECHBLS TR FEHBIH BB AL BEICTEE TS, BEAAEERLET FFERBICWMOMIET (s7R-326 02 G-I EERELET BEERZITVET
STR-2IG - - Mount the body to the custom mounting base or optional full- When installi Make sure Sun Tracker is following the sun path and check if the
Installing Locati ! . N N en installing Sun Tracker, make sure to connect to . A
STR-22G | STR-32G Ny nsta Ing%&%i%\%; HNecr:itShpehrZre Hseorﬁitsy:)ehrgre sized tripod, and fasten the body tightly with six M8 bolts. a plug which is grounded to prevent electrical shocks. attached sensor(s) is(are) aligned properly.
Communication Cable e . LR EEAER STR-32G&ECH & CHBURAXIIF TVavORE =/} BREDH. EBET—TINOT—AETH Y RSy H— FoYh-HhKBEBRLUTWSCEEERLTIEEL, Fovh—
B BREQEELZED 6D DMBARILFTLSABEL TR EL, e o [CRET Y~k BN B> T BAEFAL TS,
BEST-TI (@) O STR21G/22G Soirit Level North south EUTEBL T,
:Spirit Lev
TKAERR it B Check the connector pin orientation first; connect the Sun
Power Cable o o STR-32G : Orlgm Position Mark South North ﬂ Senso(rj csb\se tf]ren kpowerhcable: Cﬁbl‘esf should be placed
EE— around the Sun Tracker as shown in the left image. ] .
BRT-TI R MYy B L4 V8 Bolt VERILE i ownint o Specifications HSH TR
*See Manual [5-2. Setup] for precise setting. 2 Spring Washer 3*779@§?ﬁ§i§bfﬁ\b?j/t/ﬂf_\ ZLTCEBRT—J — Y —
''''' Sun Tracker BYFSyA— sy *ERICHET 25 A LIEHAE 62 8BOEHE E5BLTIZEN 2TV D9 Jﬂg?;%gbfﬁcém T OBELICONTIEERES - e~ ol R il
Washer TJvv— BTz,
Body #ik @) 0] 1 - STR-21G STR-22G STR-32G
7y Torque 12 24 (12+12) 60 (30+30)
Instrument Mount Eigagﬂ%l-ﬂxuﬁ“jé ) — STRLG/EEG Spirit Level 5 « é/ Bottom Side = Bo((om Side FIL7 (Nm)
KER \* ( @; ST STEE Payload 77(balanced 1'§ (ba}lanced 60 (balanced
Sun Sensor Bt O @) \\f\ P > RAO—F (kg) | [SUABENTIGCE) HEGVABENTIATE) | JISVABENTIELE)
- Nut ¢ Sun-sensor
Fuk Origin Position g .““,f/“ = f|e|d Of vwew +/-15
. — _ =
Tripod = © e L soton sige ixam 0
X N <t NEDEE Sun Sensor Connector Power Supply Connector (AC Type)
STR-21G/22G: Packaged upside-down. #E(CHE SN TINET \3/@5527 e ey EERIY (ACHAT) Iaerggerature 740‘ _ 150
Manual EUiEsHpg= ( WICDHWE‘@K ) e) e} Level Adjusting Screw After connecting the power cable, red and green LEDs on the BFEREH (C) (Cold start 2V FAZH 730~ 450
BAE \Rromzsisth KERERD back side of Sun Tracker start to blink and Sun Tracker Power Supply 100-240VAC, 50/60Hz, 50VA
W, It VinJ BE e} searches for GPS data. Once Sun Tracker receives GPS data, BR 24V(19vDC ~ 32VDQ), 20W
arranty (only in Japan) fREEE Ao Bor green LED (OK) is light. %”\;e”s“o"s 430x380x440 | 430x380x440 | 430x380x249
i ifi 5 (STR-216/22G MEXE0) BRES % AHEECHEHEROLEDAREIC AL, 725 (WADsH rm)
Inspection Certificate #REEE O (STR-32G :M12x100) Full-sized Tripod (Option) GPST—YDSHENEEIET, bHEETETIELMR(ES) Weight 145 155 15(Body only
/ Quick Start Guide ;;& RE=H (7fp7>3‘/p) PLEDDURKILET — B
4 TAVIRI—HAE (KE) (©) ©) Washer ~ -
] @ Do £ EKO INSTRUMENTS co., LTD. 0 zanmmnAH
/ Software FREVIMII7-BURFHAE (E
BEYTHOI7 - ERFHAE B 1) O o Head Office www.eko.co.jp X www.eko.co.jp
Anchor Bolts (M8x80) 7>HA—R)L x3 O — Fix Sun Tracker 1-21-8 Hatagaya, Shibuya-ku,Tokyo 151-0072 Japan T151-0072 REEHEAXEsA1-21-8
FSyh—%KEICEELET TEL +81(3)3469-6713 FAX +81(3)3469-6719 TEL 03-3469-6714  FAX 03-3469-6719
Spring Washers 27UV T Ty v— x3 O — Attach Sensor(s) EKO INSTRUMENTS Europe B.V.  www.eko-eu.com NRAIR—BR— 25—
Adjust Sun Tracker in a horizontal position ~ - Lulofsstraat 55, Unit 32, 2521 AL Den H The Netherland = ~ PR DN ~
L wasnens 79306 o - o g e g T e €YY -MERDHIET il b R iy
eee Sun Tracker with anchor bolts.
For installation details, see th h I .
g Nuts (M8) Fwk x3 e) _ RS- EEADE. T AR = :‘or installa |or: €talls S?e € eac Sihso;ma;l;; ) EKO INSTRUMENTS USAINC: www.eko-usa.com © EKO INSTRUMENTS co., LTD.
= FCLomDEEEL TS, Spirit Level FUVRATTIER. St Y- DRRRBEESRIE, 95 South Market Street, Suite 300 San Jose, CA 95113 USA S
Pads BIEE x3 o — i TEL +1408-977-7751 FAX +1 408-977-7741 (1509001 (1501001 C € sTRosca01s0s14v2




